
sin(2x+P/3)>-½
sint э (-P/6+2Pk;7P/6+2Pk)
-P/6+2Pk<t<7P/6+2Pk
t=2x+p/3
-P/6+2Pk<2x+P/3<7P/6+2Pk
-P/2+2Pk<2x<5P/6+2Pk
-P/4+Pk<x<5P/12+Pk
ОТВЕТ x Э (-P/4+Pk;5P/12+Pk), где k =любое целое чисто

Cos(P/4-x/2)<=-V2/2
3P/4+2Pk<=P/4-x/2<=5P/4+2Pk
2P/4+2Pk<=-x/2<=4P/4+2Pk
P+4Pk<=-x<=2P+4Pk
-2P-4Pk<=x<=-P-4Pk
ОТВЕТ xэ [-2P-4Pk;-P-4Pk] где k - любое целое

cosx<=⅓
arccos1/3 +2Pk<=x<=2P-arccos1/3 +2Pk

tg(P/6-3x)<=-V3

3P/2+2Pk<=(P/6-3x)<=5P/3+2Pk
P/2+2Pk<=(P/6-3x)<=2P/3+2Pk

P/2+Pk<=(P/6-3x)<=2P/3+Pk
P/3+Pk<=-3x<=P/2+Pk
P/9+Pk/3<=-x<=P/6+Pk/3
-P/6-Pk/3<=x<=-P/9-Pk/3
ОТВЕТ x э [-P/6-Pk/3;-P/9-Pk/3]

|sinx|>=V2/2 sin^2 x>=½     (1-cos2x)/2>=1/2
sinx>=0
sinx<0
|sinx>=V2/2
|sinx<=-V2/2
P/4+Pk<=x<=3P/4+Pk
ОТВЕТ x э [P/4+Pk;3P/4+Pk]


